
19-3114-343-02

RT-5 BOLT-ON EXHAUST,  CARBON

KAWASAKI ZX-10R
2006-07

P E R F O R M A N C E  D E L I V E R E D !

0
8

-5
0

-4
3

8
3

0
R

E
V

. 
APARTS INCLUDED

Ref. Part Number Description Qty

1) 00-200-00110 Carbon Fiber Muffler Assembly - Right 1
2) 00-200-00112 Carbon Fiber Muffler Assembly - Left 1
3) 04-11-42895 Muffler Adapter Bracket 2
4) 01-530812530-27 M8-1.25x30mm Hex Flange Head Cap Screw 2
5) 01-7408125-27 M8-1.25 Hex Flange Nut, Zinc 2
6) 01-5208125020-SS M8-1.25X20mm Socket Head Cap Screw 8

https://www.motorcycleid.com/jardine/


19-3114-343-02

RT-5 BOLT-ON EXHAUST,  CARBON

KAWASAKI ZX-10R
2006-07

1) Make sure the motorcycle is cool and place
securely on a service lift or stand.

2) Remove the bolt securing the right side cover
to the motorcycle. Pull firmly on the cover to
release it from the mounting grommets, and
set aside. See Figure #1

3) Repeat step #2 for the left side cover.

4) Remove the two bolts securing the rider seat
to the motorcycle, and remove the seat.

5) Using the key, remove the passenger seat.

6) Following Figure #2 as a guide, remove the
four bolts and two push pin fasteners from the
top of the tail section.

7) Remove the four push pin fasteners from the
underside of the tail section. Carefully spread
and lift the tail section to expose the muffler
mounting bolts.

8) Remove the right side passenger peg and set
aside. See Figure #3

9) Remove the four nuts securing the right side
muffler to the mounting flange. See Figure #3

P E R F O R M A N C E  D E L I V E R E D !

TOOLS REQUIRED
Ref. Description

1) 3/8” Drive Ratchet
2) 6” Extension
3) 10mm Socket
4) 13mm Socket
5) 10mm Wrench

Ref. Description

6) 12mm Wrench
7) 3mm Allen Wrench
8) 4mm Allen Wrench
9) 5mm Allen Wrench

10) 6mm Allen Wrench

INSTALLATION INSTRUCTIONS

FIGURE #1

FIGURE #2



19-3114-343-02

RT-5 BOLT-ON EXHAUST,  CARBON

KAWASAKI ZX-10R
2006-07

P E R F O R M A N C E  D E L I V E R E D !

10)Remove the bolt and nut securing the right side muffler to the sub frame. Remove the right side
muffler. See Figure #4. NOTE: Inspect the crush gasket and replace if necessary.

11)Using the original bolt, nut and washer, mount one supplied muffler adapter bracket to the
sub frame. When mounted, the slotted hole should be in the down position. See Figure #5

12)Place the right side Jardine muffler against the mounting flange and loosely secure using four
supplied M8-1.25x20mm socket head bolts.

13)Loosely secure the muffler mounting bracket
to the adapter bracket using one supplied
M8-1.25x30mm hex flange head bolt, and one
M8-1.25 hex flange nut.

14)Fully tighten the muffler flange mounting bolts,
then tighten the muffler bracket mounting
bolts.

15)Reinstall the right side passenger peg.

16)Repeat steps #8-15 for the left side muffler
installation.

FIGURE #3

FIGURE #4

INSTALLATION INSTRUCTIONS

FIGURE #5



19-3114-343-02

RT-5 BOLT-ON EXHAUST,  CARBON

KAWASAKI ZX-10R
2006-07

P E R F O R M A N C E  D E L I V E R E D !

16)Place the tail section into the correct position and secure using all original bolts and push pin
fasteners.

17)Reinstall rider and passenger seats.

18)Reinstall the side covers.

19)Clean all fingerprints and grease from the exhaust system prior to starting the motorcycle.

20)Start the motorcycle and check for any exhaust leaks at the flange area.

INSTALLATION INSTRUCTIONS

Learn more about motorcycle parts on our website.

https://www.motorcycleid.com/parts.html



